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™ REWERS

Centre Numbar Candidiate Numoer

Wednesday 13 June 2012 —Moming
| Time 1 hour 45 minutes

(Younmust have: Ruler graduated in centinretres and rillinvetres, Tokal Marks
protractor, pair of conrpasses, pen, HB pendl, evaser, caladator.
\_1radng paper may be used,

‘., pE

Instructions

@ Usebladkinkor ball-4point pen

e Fillinthe baes at the top of this page with your nane,
certre nurrloer and candiclate nurroer.

e Arower all gquestions.

@ Arpwarthe guestions inthe spaces provided
_ there may be irore spare than yourneed,

® GCalauiators may be usecdl

e If your calaulator does not havean button ke the value dfn tobe
3142 unless the question irstructs atherwise.

Information

® Thetowl markforthis paperis 100

® The rrarks for eadh question are shown in bradets
—wse this as aquide os to howmuich tirre to pernd oneach question

® Ouestions labdled with an asterisk (4 are ones where the quality of your
wiitten cormrunication will be assessed,

Advice

e Fbadeadjqesﬁmcareﬁjiym&)'ewstantoamam
® Kegpaneronthetime :

® Trytoanswer every question

® Checkyour answers if youhave time at theend
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GCSE MVEathaenmtics 1IVIAD
Fommilae: Foondation Tier

You nust not write on this foonmlae page.
Anything you write on this formmlae page will gain NO credit.

——
Avea of trapezimn:-% (a+b)s h
I h |
| b |
. ,
Volume of prism=area of cross section < length section.
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1 (a) Wite the mmber four thousand, two hundred and sixteen in figures.

(b) Wite down the value of the 8 in the nurrber 78 561

() Wite the murber 3568 to the nearest ten.

Answer ALL questions.
Wite your answers in the spaces provided.

You nust vrite dovn all stages in your working:

a

)

8000
D

B910

@»
(Jotal for Question 1 is 3 narls)
2 WAtite down the nane of each of these 3-ID shapxs.
|
1
a .G ooy 5\ ......... (i) Sﬂwﬁfﬁ”’b%@d(@ connich -
(Total for Question 2 is 2 marks)
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3 The pictogramshows the mmber of DVDs sold it a shop on Monday;, on Tuesday and on
WWednesday last week.

1l 0.0 ()
Tuesday OG represents 8 Vs
Wednesday Oﬂ

sty | (OO

(@) Wiite down the rmnber of DVDs sold on Monday:

(b) Wite down the muber of DV sold on Wadnesday.
@
16 DVIs were sold on Thursday.
28 DV were sold on Fiday,
(©) Uke this infonation to conplete the pictogram
@
(Total for Question 3 is 4 marks)
4 Jalin has a £10 note to spend on stickers. ‘ IV A
Apecket of stickers costs 79p. /Zf?iai:%gqc)osz: - j ? («é%
Hshlysasnmgqtﬁd(ds of stickers as possible. = f
\R&i{mtl'nv?/mxh-dmlgehlipslnﬂdget l};( O _ j?i{fgﬂ O W&S”z
o019 =11
4o & s
2094 .00.52p
(Total for Question 4 is 3 nmarks)
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| 5 Tereis a square ard a frapezivim
£
Zz
O ™~
(8) Wite down the size of each angle of the square.
............................ q0.-
@
(b) Mk, with the letter O, an obiuse angle.
@®
(©) Find two lines that are parpendicular.
Mark each of these lines with a letter P
¢y
(Total for Question 5is 3 narks)
6 (@ Sinplify c—+c+c
e
@»
() Sinplify 2e <3
2l
@
(© Sinplify P +2t—2p +3t .
p.rot..
@
(Total fox Question 6 is 4 marks)
r
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7 Iereisashape.

(a) Dawall the lines of syrmetiy on this shape.

Fere is a regular hexagon,

@

(b) Wiite down the order of rotational symretry of this regular hexagon.

(Total for Question 7 is 3 narks)

8 'The shaded shape is dravn on a grid of centinetre squanes.

(a) Find the perimeter of the shaded shape.

............ A
@

cmn
(1) Find the area of the shaded shape. 22
@

(Total for Question 8 js 2 marks) J;
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9 The table gives infonyation about five printers.

Printer Cost wig | ot fom R

Sirart £260 v v 4p

Office £138 v 2p

Kanon £285 v v 5p

Hiton £160 # 4p

Quikprint £115 v 3p

(a) Which printer costs the 1most? _

Kanon....

@®
(b) Which printers do not have wi-fi?

OFfice.o0d. Quickaiak. .

@
(©) ‘Which printer has a printing cost per page of 4p and can print fioma canera?
ek

@

(Total for-Question 9 is 3 marks)
10
' Hagtmnmf
q accurately drawn
(1) Woik out the size of angle x. 1O %&)O" 100 = “")O
£ 9 VB

(i) Give areason for your answer.

_Becamse. cmgus acund a pout add....
VSO T o R X 1O

(Total for Question 10 is 2 marks)
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11 (@ Wiite down the tine shown on this clock

_ @
(b) Wite 4 10 pmusing the 24-hour clodk
@
Edgoes tothe g&nmhis way towork
e takes 15 mimutes to walk fiombhis hore to the gym
He will be at the gymfor 1 hou
Ed takes 10 mimites to walk fromthe gymto work.
Bdreeds tobeat work at 8 15 am
(c) What is therlatest time he can leave hone?
915 = [0nuns = E05am
%05 - Lhe = 705am
108 = 1Spuns = 650am
LhH0am
, @
(1otal for Question 11 is 4 mais)
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12 You can use the graph to change between imiles and kilonetres.

e,

kilonetres 4

mles

(a) Qenge 3 miles into kilonetres.

. Lf” j % kilonetres
@

(by Change 60161@176&68 ml:onﬂes
bkri= 3 65;%&5
@km = 3} 7 x%wmdw | 37@3% ............. rriles

. .
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13 Kazrolleda dice 10 tines.
FEere are her sooves.

2 6 5 4 4 2 l 3 4 3
(a) Fird the node. |

(b) Wik out the mean. 5 .
2+ eSHloatr 20 14 34 0432 3

W-10= 34

(c) Work out the range.

Cbm ! 2 5’“

(Total for Qaestion 13 is S narks)

14 P=35% —y
(@ Walk out the value of P wheny =12 andy =5

35X 175 =37

2)
(b) Waidk out the value of P whenx =—9 andy =-6

35X-9 -~

2
(Total for Question 14 is 4 marks)
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15 Hee are soive pettenns 1rade firom grey tiles.

Pattern nundber 1 Pattem rmrber 2 Patterm ramdber 3
(8) Draw Pattern murber 4 on the grid below

@
(b) Hownmany grey tiles are needed for Pattern nurber 10? '

......... 30

Jenny says,
“T will need exactly 46 grey tiles for Pattem munber 18°,

(© Is Jarmy riglt?
Younust give areason for your answet.

Faﬁéefﬂihm#gf@&!eS,P@&Wﬂﬁh&%Zﬁaﬁ@ﬁ

A2 Yoan 10, 16 Yol Conkinme. HM. Sequance. £ 5 each

s b 0.10,33,.16,19.,.22,. 70, 28,30, 3%, 30,48,
L3, b, = Yo Can see thud e bbb @
CAURSTA ooldem \S‘. SO (lotal for Question 15is 5 marks)

Aem\g S ueng
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16 Mchaal writes down 4 different factors of 60

T adds the 4 factors together,
Fe gets a muber greater than 20 but less than 35

What 4 factors could Midael have witten down?
A\ Fattos of 60 ale
W2,3,4 5, 6,10 12,1520, 30, 60,

20+ 1+ 2+2="2b

2O b i S
(Total for Question 16 is 3 marks)
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17 The pie charts show soire mfommtion about the murbers of medals won by Garmrany
and by the Russian Federation in the 2010 Winter Olynpics.

Nedals won by Gentreny Medals won by the Rissian Foderation,

Gold

72°

Germany won 7 bronze edals.,
(2 Howmmany gold redals did Genyerty win?

BU° =T medalds .
1 medal = 4= 7712

Golel = 120712 =10
A0
@

(b) Gahamsays,
“The pie charts shiowthat Gem'anymm nore gold medals than the Russian Federation’.
Is Grabamright? ...

You must explain your answer: |
Noeecanse.. Do do. 0ot Koo, o

md&hm@caw({}/@m (/98{/@;
Mghe e dufferent Qumounes, =@

(Total for Question 17 is 3 marks)
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18 Suelhas a bag of 18 sweets.

5 of the swests ave blue
70fﬂ]6 sweets are red
6 of the sweets are green

Sue takes at randoma sweet firomthe bag,
Wite dovwn the probability that Sue
(i) takes ared swect,

(i) does not take a green sweet,

(iii) takes a yellow sweet.

(Total for Question 18 is 3 nauks)

19 (a) Solve bH-—-7=12

(b) Solve 5S¢ =40

© Solve  4m+6=15

5 - b=

0 = =225

b= T

B e 8 ..............................

@

@)
(Total for Question 19 is 4 nmaks)
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20 Rani has 250 DVDs.

42%40f e DVDs are thrillers.

% of her DVIDE are comredies.

The rest of Ter DVIDs are science fiction.

Fhwireny science fiction DVIDs does Rani have?
WL % of 250 .
L = 1% /=200
sTOVAR S50 )T D
Lo =\00 WL/ = OS

0SS ONO'S 0@ tnrUars
2%“ of 25U
85D = 5= SO
[00 DVDs ase COMeds.
/OS—M */“’/OO :2@5 L!”SP

ZSO -705 = H S (Jotal for Question 20 is 4 maris)
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21 Onthe grid, draw the graph of y =3y —2 for values of x fion—1to 3

-

v

Ol v 213

J

-5

200 1w [

(Total for Question 21 is 3 marks)
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22 Pat and Julie share sone money intheratio2 @ 5
Julie gets £45 more than Pat.

Howmch noney did Pat get?

| ot = ES (h5=3)
e aeks 2 paits = 415x 2 = 130

(Total for Question 22 is 3 narks)

#23 Potatoes cost £9 for a 12.5 kg bag at a farmshop.
"The same type of potatoes cost £1.83 for a 2.5 kg bag at a supemmrket.

Where are the potatoes the better valug, at the fanmshop or at the supermanket?
You st show your working,

He  supermar ke,é
”ZS‘\\“Z% = F\- 83
Ske = 4360
Okicg = 17 3L

17 3'}’-’% LT 32+ F1-83

SR

So the potatewes are folly ilue af

th F@/m Shap as it 15 ISP cheare”
For 12549 ot for Question 23 s 4 marks)

o

O 0 OO O A0 sorsicie
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(@) Reflect triangle A in the x-axis.
@
(b) Dawan e:rﬁargalﬁn; scale factor 3, of shape B
@
(Total for Question 24 is 4 marks)
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25 Linda is going on holiday to the Czech Republic.
She reads to change soime noney into konunma,

She can only chamge her money into 100 koruna notes.

Linda only warts to change up to £200 into ko,
She wants as nany 100 konra notes as possible.

The exchange rate is £1 =25.82 komuna.
(a) Hownany 100 koruna notes should she get?

1900 X 25832 = 5lok
5160 - 100= 516

Linda buys anreal in the Crech Republic.
The neal costs 400 ko,

- (b) Waik out the cost of the meal in pounds.

LOO = 25,37 = 1511366

&)

(Total for Question 25 is 6 narks)

e

19
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26 The scatter graph shows sone inforration about 8 cars.

For each car it shows the engine size, in litres, and the distance, in kilonretres, the car
travels on ove litre of petrol.

PN
N
16
\‘
\\
14 | >
X
Distance X
(dlonetres) 12 \
10
B
8
4
6 : P
0 1 2 3 4 5
Engine size (litres)

(a) What type of carrelation does the scatter grapl show?
Degabive. carelaban.
%

@
Adifferent car of the sarre type has an engine size of 2.5 ]1'11'63.
(5 Bsthivete the distance travelled on o Tiive of petedl by this car:
(0]
(Total for Question 26 is 3 narks)
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27 M Weaver's garden is in the shape of a rectangle.

M Weaver is going to spread fertiliser over all the grass.
One box of fartiliser will cover 25 nr? of grass.

How ey boxes of fartiliser does M Weaver noed?
You st show your working, 5

MT(} (ZCLL CLAE L Cj}{f“ %C\X\C\.Qf\ | x q X S . l @ ( . Sr“ﬂ
Area. ok C>C“Lt*i@ J-HX D E= H e Qjmqw

Areaet ponct = 71c*
| ' rTTXIaCTQ" |
= 3N Em

R

frecn of QS{‘C;\SS‘
L -
G5 — (26 6+ 113 #1020

Gl 5 — k-2’72 = W1 213

Dunbel of bhoxes o Certibser peedled
\\) - NE 715 = W-UBB

So e nedS 5 obooxes o Gertiigel

(Total for Question 27 is 5 marks)

Inthe garden
there is a patio in the shape of a rectangle
and two ponds in the shape of circles with dianeter 3.8 m
The rest of the garden 15 grass.
< DiagramINOT
accurately dravwn |
patio
95m
>
28m

L i e
21
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*28 Herny is thinking about having a water ineter:
These are the two ways he can pay for the water he uses.

- )
‘Wiater IVEter No Water VEier
Acharge of £28.20 per year Acharpe of £107 pex vear
plus

91.22p for every cubic metre of water used

1 cubic metre = 1000 litres
. i

Hemy uses an average of 180 litres of water each day.

Henry wants to pay as little as possible for the water he uses.
Should Hetry have a water ireter?

Ver k@\ cat HGX\V\A USES D700 Ukves o woakelr
(ReS x180=65700)

LS T00ULES n cuoic renes <
65100+ (coo= 57,
Cost \s gy Llp XE&O .77 = 599 3151 pence..
which is $59.93
Tokad cost per (dear", VNG a0 wadkel (neker @\%
59-93+ 182048813

Ds £8%20\Y s crearel Pran i\ O"‘Tt He N
\v\Qﬂ(\s Anaudd have @ Water (neLer

(Total for Question 28 is S nmarks)

TOTAL FOR PAPER IS 100 MARKS
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